
Success Criteria for Finding the Equation of a Tangent Achieved 
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I can find the co-ordinates of the point, p  where the circle meets the line.  
I can find the gradient of the radius. 

𝑚𝑚 =
𝑝𝑝(𝑦𝑦) − 𝑐𝑐(𝑦𝑦)
𝑝𝑝(𝑥𝑥) − 𝑐𝑐(𝑥𝑥)

  

Where p is the point where the tangent meets the circle and c is the centre of the 
circle. 

 

I can find the gradient of a line that is perpendicular to the radius. 

𝑚𝑚𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇𝑇 = −
1

𝑚𝑚𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅
 

 

 

I can use the co-ordinates of the point to substitute into the equation for a straight 
line and manipulate this to find the value of the intercept, c. 

𝑦𝑦 = 𝑚𝑚𝑚𝑚 + 𝑐𝑐  
 

 


